

15th FOURSOME LEAGUE
EVERY TUESDAY @ 8.15pm EXCEPT EVE & PUBLIC HOLIDAYS

FASTING MONTH	Week	Date	LANE ASSIGNMENT														AGAINST BYE TEAM
			1 - 2	3 - 4	5 - 6	7 - 8	9 - 10	11 - 12	13 - 14	15 - 16	17 - 18	19 - 20	21 - 22				
			ROUND 1														
	1	06/01/26	1 - 2	3 - 4	5 - 6	7 - 8	9 - 10	11 - 12	13 - 14	15 - 16	17 - 18	19 - 20	21 - 22		23		
	2	13/01/26	7 - 6	5 - 8	3 - 2	1 - 4	15 - 14	13 - 16	11 - 10	9 - 12	23 - 22	19 - 18	17 - 20		21		
	3	20/01/26	3 - 8	1 - 6	7 - 4	5 - 2	11 - 16	9 - 14	15 - 12	13 - 10	17 - 22	23 - 20	21 - 18		19		
	4	27/01/26	5 - 4	7 - 2	1 - 8	3 - 6	13 - 12	15 - 10	9 - 16	11 - 14	21 - 20	23 - 18	19 - 22		17		
	5	03/02/26	18 - 14	20 - 16	10 - 22	23 - 3	17 - 5	7 - 19	21 - 1	8 - 11	2 - 13	4 - 15	6 - 9		12		
	6	10/02/26	10 - 18	20 - 12	22 - 14	17 - 1	19 - 3	5 - 21	23 - 7	2 - 9	4 - 11	6 - 13	8 - 15		16		
		17/02/26	CHINESE NEW YEAR DAY 1														
8.30pm	7	24/02/26	22 - 16	12 - 18	20 - 14	7 - 21	1 - 23	17 - 3	5 - 19	15 - 6	9 - 8	11 - 2	13 - 4		10		
8.30pm	8	03/03/26	9 - 1	11 - 3	13 - 5	15 - 7	2 - 18	4 - 20	6 - 22	10 - 17	12 - 19	14 - 21	16 - 23		8		
8.30pm	9	10/03/26	13 - 7	15 - 5	9 - 3	11 - 1	8 - 22	4 - 18	2 - 20	14 - 23	16 - 21	10 - 19	12 - 17		6		
8.30pm	10	17/03/26	15 - 3	13 - 1	11 - 7	9 - 5	2 - 22	8 - 20	6 - 18	16 - 19	14 - 17	12 - 23	10 - 21		4		
	11	24/03/26	11 - 5	9 - 7	15 - 1	13 - 3	6 - 20	8 - 18	4 - 22	12 - 21	10 - 23	16 - 17	14 - 19		2		
	12	31/03/26	18 - 20	14 - 16	12 - 10	19 - 17	5 - 7	21 - 23	1 - 3	4 - 2	13 - 15	8 - 6	9 - 11		22		
	13	07/04/26	12 - 22	10 - 20	18 - 16	5 - 23	3 - 21	19 - 1	7 - 17	13 - 8	11 - 6	9 - 4	15 - 2		14		
	14	14/04/26	2 - 17	4 - 19	6 - 21	8 - 23	18 - 9	20 - 11	22 - 13	1 - 10	3 - 12	5 - 14	7 - 16		15		
	15	21/04/26	6 - 23	8 - 21	2 - 19	4 - 17	22 - 15	18 - 11	20 - 9	7 - 14	5 - 16	3 - 10	1 - 12		13		
	16	28/04/26	8 - 19	6 - 17	4 - 23	2 - 21	22 - 9	20 - 15	18 - 13	3 - 16	1 - 14	7 - 12	5 - 10		11		
	17	05/05/26	4 - 21	2 - 23	8 - 17	6 - 19	20 - 13	18 - 15	22 - 11	5 - 12	7 - 10	1 - 16	3 - 14		9		
	18	12/05/26	20 - 22	16 - 10	14 - 12	21 - 19	7 - 1	23 - 17	3 - 5	6 - 4	15 - 9	2 - 8	11 - 13		18		
	19	19/05/26	16 - 12	14 - 10	22 - 18	3 - 7	23 - 19	1 - 5	17 - 21	11 - 15	8 - 4	13 - 9	2 - 6		20		
	20	26/05/26	17 - 9	19 - 11	21 - 13	23 - 15	10 - 2	12 - 4	14 - 6	16 - 8	18 - 1	20 - 3	22 - 5		7		
	21	02/06/26	23 - 13	21 - 15	19 - 9	17 - 11	14 - 8	16 - 6	10 - 4	12 - 2	22 - 7	18 - 3	20 - 1		5		
	22	09/06/26	19 - 15	17 - 13	23 - 11	21 - 9	16 - 4	14 - 2	12 - 8	10 - 6	22 - 1	20 - 7	18 - 5		3		
	23	16/06/26	21 - 11	23 - 9	17 - 15	19 - 13	12 - 6	10 - 8	16 - 2	14 - 4	20 - 5	18 - 7	22 - 3		1		
			ROUND 2														
	24	23/06/26	1 - 2	3 - 4	5 - 6	7 - 8	9 - 10	11 - 12	13 - 14	15 - 16	17 - 18	19 - 20	21 - 22		23		
	25	30/06/26	7 - 6	5 - 8	3 - 2	1 - 4	15 - 14	13 - 16	11 - 10	9 - 12	23 - 22	19 - 18	17 - 20		21		
	26	07/07/26	3 - 8	1 - 6	7 - 4	5 - 2	11 - 16	9 - 14	15 - 12	13 - 10	17 - 22	23 - 20	21 - 18		19		
	27	14/07/26	5 - 4	7 - 2	1 - 8	3 - 6	13 - 12	15 - 10	9 - 16	11 - 14	21 - 20	23 - 18	19 - 22		17		
	28	21/07/26	18 - 14	20 - 16	10 - 22	23 - 3	17 - 5	7 - 19	21 - 1	8 - 11	2 - 13	4 - 15	6 - 9		12		
	29	28/07/26	10 - 18	20 - 12	22 - 14	17 - 1	19 - 3	5 - 21	23 - 7	2 - 9	4 - 11	6 - 13	8 - 15		16		
	30	04/08/26	22 - 16	12 - 18	20 - 14	7 - 21	1 - 23	17 - 3	5 - 19	15 - 6	9 - 8	11 - 2	13 - 4		10		
	31	11/08/26	9 - 1	11 - 3	13 - 5	15 - 7	2 - 18	4 - 20	6 - 22	10 - 17	12 - 19	14 - 21	16 - 23		8		
	32	18/08/26	13 - 7	15 - 5	9 - 3	11 - 1	8 - 22	4 - 18	2 - 20	14 - 23	16 - 21	10 - 19	12 - 17		6		
	33	25/08/26	15 - 3	13 - 1	11 - 7	9 - 5	2 - 22	8 - 20	6 - 18	16 - 19	14 - 17	12 - 23	10 - 21		4		
	34	01/09/26	11 - 5	9 - 7	15 - 1	13 - 3	6 - 20	8 - 18	4 - 22	12 - 21	10 - 23	16 - 17	14 - 19		2		
	35	08/09/26	18 - 20	14 - 16	12 - 10	19 - 17	5 - 7	21 - 23	1 - 3	4 - 2	13 - 15	8 - 6	9 - 11		22		
	36	15/09/26	12 - 22	10 - 20	18 - 16	5 - 23	3 - 21	19 - 1	7 - 17	13 - 8	11 - 6	9 - 4	15 - 2		14		
	37	22/09/26	2 - 17	4 - 19	6 - 21	8 - 23	18 - 9	20 - 11	22 - 13	1 - 10	3 - 12	5 - 14	7 - 16		15		
	38	29/09/26	6 - 23	8 - 21	2 - 19	4 - 17	22 - 15	18 - 11	20 - 9	7 - 14	5 - 16	3 - 10	1 - 12		13		
	39	06/10/26	8 - 19	6 - 17	4 - 23	2 - 21	22 - 9	20 - 15	18 - 13	3 - 16	1 - 14	7 - 12	5 - 10		11		
	40	13/10/26	4 - 21	2 - 23	8 - 17	6 - 19	20 - 13	18 - 15	22 - 11	5 - 12	7 - 10	1 - 16	3 - 14		9		
	41	20/10/26	20 - 22	16 - 10	14 - 12	21 - 19	7 - 1	23 - 17	3 - 5	6 - 4	15 - 9	2 - 8	11 - 13		18		
	42	27/10/26	16 - 12	14 - 10	22 - 18	3 - 7	23 - 19	1 - 5	17 - 21	11 - 15	8 - 4	13 - 9	2 - 6		20		
	43	03/11/26	17 - 9	19 - 11	21 - 13	23 - 15	10 - 2	12 - 4	14 - 6	16 - 8	18 - 1	20 - 3	22 - 5		7		
	44	10/11/26	23 - 13	21 - 15	19 - 9	17 - 11	14 - 8	16 - 6	10 - 4	12 - 2	22 - 7	18 - 3	20 - 1		5		
	45	17/11/26	19 - 15	17 - 13	23 - 11	21 - 9	16 - 4	14 - 2	12 - 8	10 - 6	22 - 1	20 - 7	18 - 5		3		
	46	24/11/26	21 - 11	23 - 9	17 - 15	19 - 13	12 - 6	10 - 8	16 - 2	14 - 4	20 - 5	18 - 7	22 - 3		1		
		01/12/26	MASTER'S EVENT : CHECK IN : 7.45pm ROLL OFF : 8.30pm														
		08/12/26	NEW SEASON - 16th FOURSOME LEAGUE														

	TEAM	CAPTAIN
1	TEAM A*	ALEX HEIZAN
2	COOL STRIKE	JEFFREY
3	ROMALEOS	MUNIRA MAHBOB
4	NOBODY RULES NOBODY	NESS
5	15 FIVE	JACKSON YEO
6	REVIVAL TEAM	ZARRY
7	ASSASSINS	HANAFI CASMAN
8	E'CLIPSE	NINA
9	PRESTIGE	AION HMTAIB
10	4 U 2 BOWL	YUSOFF
11	STORM RIDERS	HASSAN HUSSEIN
12	KNIGHTS	DORAY

	TEAM	CAPTAIN
13	BLACK KNIGHT	BERNARD SEE
14	TEAM F&S	MUHD NIZAM
15	REVOLUTION	RAY SOH
16	MISFITS STRIKERS	JENNIFER
17	ALL FOR ONE	EDDIE YAP
18	CONQUERORS	ALVIN SEOW
19	ROLLING 99	ANDRE LEE
20	C.C.R.T	SHAFIE
21	CLASSIC BOWLERS	MUHD JURAIMI
22	B.I.B	MUHD LATIF
23	X-FREEDOM	FAIZ HARON
24	BYE TEAM	BYE TEAM

**15th FOURSOME LEAGUE
WESTWOOD BOWL**

Week 6

OVERALL TEAM STANDING

10-Feb-26

Pos	Team Name	Current	Current	Week 6	Previous	Previous	Points Won	Week 6	
		Total Points	Total Pinfalls	w / h'dcp	Total Pinfalls	Total Points		Won	Lost
1	15 FIVE	102	14456	2569	11887	84	18	18	2
2	MISFITS STRIKERS	83	11334		11334	63	20	20	0
3	4U2 BOWL	78	14160	2518	11642	65	13	13	7
4	TEAM F&S	77.5	13490	2293	11197	60	17.5	17.5	2.5
5	REVIVAL TEAM	75.5	13794	2500	11294	61.5	14	14	6
6	CONQUERORS	74	13515	2262	11253	67	7	7	13
7	ROLLING 99	73	10939	2212	8727	62	11	11	9
8	C.C.R.T	72.5	13758	2465	11293	56.5	16	16	4
9	ROMALEOS	64	13287	2213	11074	55	9	9	11
10	B.I.B	64	12766	2124	10642	61.5	2.5	2.5	17.5
11	BLACK KNIGHT	63.5	13712	2346	11366	57.5	6	6	14
12	REVOLUTION	62	12708	2084	10624	49	13	13	7
13	ASSASSINS	59	12708	2207	10501	44	15	15	5
14	STORM RIDERS	58.5	13086	2166	10920	50.5	8	8	12
15	CLASSIC BOWLERS	57	10990	2214	8776	55	2	2	18
16	E'CLIPSE	54	12676	2044	10632	47	7	7	13
17	ALL FOR ONE	52.5	10186	2372	7814	37	15.5	15.5	4.5
18	NOBODY RULES NOBODY	50	12936	2194	10742	38	12	12	8
19	KNIGHTS	48.5	10636	2218	8418	44.5	4	4	16
20	X-FREEDOM	47	10219	2023	8196	42	5	5	15
21	PRESTIGE	45	13247	2275	10972	32	13	13	7
22	COOL STRIKE	43	13096	2149	10947	36	7	7	13
23	TEAM A ³	36.5	12536	2196	10340	32	4.5	4.5	15.5
24	BYE TEAM	0	0		0	0	0	0	20

15th FOURSOME LEAGUE WESTWOOD BOWL Week 6

4U2 BOWL # 10

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
1	IFQAH	F	17	181	219	214	614	198	1	236	1	231	1	665	1	4
	HEISYAM	M	4	156	201	247	604	160	0	205	1	251	1	616	1	3
	BRYANT	M	0	200	238	182	620	200	1	238	0	182	0	620	0	1
	HAIRON	M	0	190	221	206	617	190	0	221	1	206	1	617	0	2
Scratch Total				727	879	849	2455									
Handicap				21	21	21	63									
Total				748	900	870	2518	748	0	900	1	870	1	2518	1	13

Point Won	13
Point Lost	7

CONQUERORS # 18

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
2	IVAN	M	9	181	156	160	497	190	0	165	0	169	0	524	0	0
	DANIEL	M	9	172	143	119	434	181	1	152	0	128	0	461	0	1
	ALVIN S	M	2	186	250	214	650	188	0	252	1	216	1	656	1	3
	ZULKIFLI	M	0	242	183	196	621	242	1	183	0	196	0	621	1	2
Scratch Total				781	732	689	2202									
Handicap				20	20	20	60									
Total				801	752	709	2262	801	1	752	0	709	0	2262	0	7

Point Won	7
Point Lost	13

C.C.R.T # 20

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
3	ANAQY	M	22	167	119	173	459	189	1	141	0	195	0	525	1	2
	ISA	M	8	212	233	186	631	220	1	241	1	194	0	655	1	3
	HASHIM	M	6	177	231	200	608	183	0	237	1	206	1	626	1	3
	SHAFIE	M	0	200	236	223	659	200	1	236	1	223	1	659	1	4
Scratch Total				756	819	782	2357									
Handicap				36	36	36	108									
Total				792	855	818	2465	792	1	855	1	818	1	2465	1	16

Point Won	16
Point Lost	4

KNIGHTS # 12

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
4	DORAY K	M	0	163	145	204	512	163	0	145	1	204	1	512	0	2
	LALITHAL	F	35	123	167	174	464	158	0	202	0	209	1	569	0	1
	TULASI	M	7	198	161	190	549	205	1	168	0	197	0	570	0	1
	SATHIAMOORTHY	M	0	178	192	197	567	178	0	192	0	197	0	567	0	0
Scratch Total				662	665	765	2092									
Handicap				42	42	42	126									
Total				704	707	807	2218	704	0	707	0	807	0	2218	0	4

Point Won	4
Point Lost	16

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 6**

B.I.B # 22

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
5	ANDI	M	16	165	179	157	501	181	0	195	0	173	1	549	0	1
	MUN	M	10	147	158	187	492	157	0	168	0	197	0	522	0	0
	SUTRESNOH	M	9	146	171	190	507	155	0	180	0	199	0	534	0	0
	SUFI TRESNO	M	0	185	174	160	519	185	0	174	0	160	1	519	0.5	1.5
Scratch Total				643	682	694	2019									
Handicap				35	35	35	105									
Total				678	717	729	2124	678	0	717	0	729	0	2124	0	2.5

Point Won	2.5
Point Lost	17.5

TEAM F&S # 14

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
6	AURORA	F	24	184	172	145	501	208	1	196	1	169	0	573	1	3
	TAHIR	M	8	151	201	215	567	159	1	209	1	223	1	591	1	4
	OSMAN TIK	M	6	193	188	211	592	199	1	194	1	217	1	610	1	4
	CHANDRAN	M	0	192	179	148	519	192	1	179	1	148	0	519	0.5	2.5
Scratch Total				720	740	719	2179									
Handicap				38	38	38	114									
Total				758	778	757	2293	758	1	778	1	757	1	2293	1	17.5

Point Won	17.5
Point Lost	2.5

ALL FOR ONE # 17

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
7	MUHAMAD	M	15	198	227	207	632	213	1	242	1	222	1	677	1	4
	NABIL	M	14	159	155	202	516	173	0	169	1	216	1	558	0.5	2.5
	IBRAHIM	M	14	128	213	166	507	142	0	227	1	180	1	549	1	3
	SANI	M	13	173	185	191	549	186	1	198	0	204	1	588	1	3
Scratch Total				658	780	766	2204									
Handicap				56	56	56	168									
Total				714	836	822	2372	714	0	836	1	822	1	2372	1	15.5

Point Won	15.5
Point Lost	4.5

TEAM A3 # 1

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
8	RAIMI	M	24	179	168	151	498	203	0	192	0	175	0	570	0	0
	KELSON	M	21	199	123	173	495	220	1	144	0	194	0	558	0.5	1.5
	ALEX	M	18	173	170	130	473	191	1	188	0	148	0	527	0	1
	MAX	M	11	168	190	150	508	179	0	201	1	161	0	541	0	1
Scratch Total				719	651	604	1974									
Handicap				74	74	74	222									
Total				793	725	678	2196	793	1	725	0	678	0	2196	0	4.5

Point Won	4.5
Point Lost	15.5

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 6**

ROLLING 99 # 19

Lane No	Bowler's Name	SEX	H'cap	G1	G2	185	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
9	DARREN	M	0	185	146	146	477	185	0	146	0	146	0	477	0	0
	SAM	M	15	170	171	184	525	185	0	186	1	199	1	570	1	3
	RICK TAN	M	3	142	193	236	571	145	0	196	1	239	1	580	1	3
	ANUAR	M	0	201	161	223	585	201	1	161	0	223	1	585	1	3
Scratch Total				698	671	789	2158									
Handicap				18	18	18	54									
Total				716	689	807	2212	716	0	689	1	807	1	2212	0	11

Point Won	11
Point Lost	9

ROMALEOS # 3

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
10	NUR ES	M	10	242	170	205	617	252	1	180	1	215	1	647	1	4
	NORHAIZUL	M	8	189	139	163	491	197	1	147	0	171	0	515	0	1
	RIDDUAN	M	4	214	168	136	518	218	1	172	0	140	0	530	0	1
	MD HAZLIN	M	0	146	169	206	521	146	0	169	1	206	0	521	0	1
Scratch Total				791	646	710	2147									
Handicap				22	22	22	66									
Total				813	668	732	2213	813	1	668	0	732	0	2213	1	9

Point Won	9
Point Lost	11

15 FIVE # 5

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
11	JULIUS	M	0	279	184	223	686	279	1	184	1	223	1	686	1	4
	BRANDON	M	0	234	159	202	595	234	1	159	0	202	1	595	1	3
	ZUHAILI	M	0	204	243	225	672	204	1	243	1	225	1	672	1	4
	RAYMOND	M	0	230	164	222	616	230	1	164	0	222	1	616	1	3
Scratch Total				947	750	872	2569									
Handicap				0	0	0	0									
Total				947	750	872	2569	947	1	750	1	872	1	2569	1	18

Point Won	18
Point Lost	2

CLASSIC BOWLERS # 21

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
12	MAX	M	0	187	166	177	530	187	0	166	0	177	0	530	0	0
	DESMOND	M	18	165	166	149	480	183	0	184	1	167	0	534	0	1
	YUXUAN	M	3	188	177	193	558	191	0	180	0	196	0	567	0	0
	NICHOLAS	M	0	222	185	176	583	222	0	185	1	176	0	583	0	1
Scratch Total				762	694	695	2151									
Handicap				21	21	21	63									
Total				783	715	716	2214	783	0	715	0	716	0	2214	0	2

Point Won	2
Point Lost	18

15th FOURSOME LEAGUE WESTWOOD BOWL Week 6

X-FREEDOM # 23

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
13	FAIZ	M	22	119	133	180	432	141	0	155	0	202	1	498	0	1
	KHAI	M	16	132	140	176	448	148	1	156	0	192	1	496	0	2
	AAN	M	9	169	140	226	535	178	0	149	0	235	1	562	0	1
	AMINZKD	M	8	180	132	131	443	188	0	140	0	139	0	467	0	0
Scratch Total				600	545	713	1858									
Handicap				55	55	55	165									
Total				655	600	768	2023	655	0	600	0	768	1	2023	0	5

Point Won	5
Point Lost	15

ASSASSINS # 7

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
14	SAHRUDIN	M	25	168	205	131	504	193	1	230	1	156	0	579	1	3
	IAN	M	14	130	177	157	464	144	0	191	1	171	0	506	1	2
	AMY	M	11	215	201	156	572	226	1	212	1	167	0	605	1	3
	HANAPEPE	M	2	193	157	161	511	195	1	159	1	163	1	517	1	4
Scratch Total				706	740	605	2051									
Handicap				52	52	52	156									
Total				758	792	657	2207	758	1	792	1	657	0	2207	1	15

Point Won	15
Point Lost	5

COOL STRIKE # 2

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
15	RAZAK	M	16	167	145	151	463	183	0	161	0	167	1	511	0	1
	HARON	M	13	153	158	121	432	166	0	171	0	134	0	471	0	0
	AJ	M	8	211	210	183	604	219	1	218	1	191	1	628	1	4
	JEFFREY	M	7	168	174	176	518	175	1	181	0	183	0	539	0	1
Scratch Total				699	687	631	2017									
Handicap				44	44	44	132									
Total				743	731	675	2149	743	0	731	1	675	0	2149	0	7

Point Won	7
Point Lost	13

PRESTIGE # 9

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
16	ALEX LIEW	M	15	202	177	135	514	217	1	192	1	150	0	559	1	3
	MERVIN TAY	M	14	170	181	223	574	184	1	195	1	237	1	616	1	4
	JOCELYN GOH	F	13	174	120	163	457	187	0	133	0	176	0	496	0	0
	BAN LEE	M	8	159	199	222	580	167	0	207	1	230	1	604	1	3
Scratch Total				705	677	743	2125									
Handicap				50	50	50	150									
Total				755	727	793	2275	755	1	727	0	793	1	2275	1	13

Point Won	13
Point Lost	7

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 6**

NOBODY RULES NOBODY # 4

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
17	NG WEE YAP	M	0	157	174	207	538	157	1	174	1	207	1	538	1	4
	NAISAH NESS	F	27	198	170	143	511	225	1	197	0	170	0	592	1	2
	LIM TZEN SHYEN	M	21	115	181	154	450	136	0	202	0	175	0	513	0	0
	SHARON ANG	F	20	186	164	141	491	206	1	184	1	161	0	551	1	3
Scratch Total				656	689	645	1990									
Handicap				68	68	68	204									
Total				724	757	713	2194	724	1	757	1	713	0	2194	1	12

Point Won	12
Point Lost	8

STORM RIDERS # 11

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
18	AMANDA	F	15	134	139	137	410	149	0	154	0	152	0	455	0	0
	KEVIN	M	12	162	197	182	541	174	0	209	1	194	1	577	0	2
	JACKY	M	12	219	200	167	586	231	1	212	1	179	1	622	1	4
	KIKI	M	5	161	151	185	497	166	0	156	0	190	1	512	0	1
Scratch Total				676	687	671	2034									
Handicap				44	44	44	132									
Total				720	731	715	2166	720	0	731	0	715	1	2166	0	8

Point Won	8
Point Lost	12

REVIVAL TEAM # 6

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
19	MAMES	M	18	214	214	206	634	232	1	232	1	224	1	688	1	4
	RIHIN	M	17	205	170	214	589	222	1	187	1	231	1	640	1	4
	RIDUWAN	M	10	157	182	148	487	167	0	192	1	158	0	517	0	1
	SANI	M	9	189	202	237	628	198	0	211	1	246	0	655	0	1
Scratch Total				765	768	805	2338									
Handicap				54	54	54	162									
Total				819	822	859	2500	819	1	822	1	859	1	2500	1	14

Point Won	14
Point Lost	6

BLACK KNIGHT # 13

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
20	HARRY KHOO	M	13	177	183	204	564	190	0	196	0	217	0	603	0	0
	STANLEY TAN	M	8	195	163	148	506	203	0	171	0	156	0	530	0	0
	SAM	M	3	171	182	195	548	174	1	185	0	198	1	557	1	3
	RAYMOND GOH	M	2	216	189	245	650	218	1	191	0	247	1	656	1	3
Scratch Total				759	717	792	2268									
Handicap				26	26	26	78									
Total				785	743	818	2346	785	0	743	0	818	0	2346	0	6

Point Won	6
Point Lost	14

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 6**

E'CLIPSE # 8

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
21	NINA	F	21	148	157	162	467	169	0	178	1	183	0	530	0	1
	IZZAN	M	15	126	136	148	410	141	0	151	1	163	0	455	0	1
	MCKEAN	M	12	169	151	160	480	181	1	163	0	172	1	516	1	3
	MAT NOOR	M	10	178	172	163	513	188	1	182	0	173	1	543	0	2
Scratch Total				621	616	633	1870									
Handicap				58	58	58	174									
Total				679	674	691	2044	679	0	674	0	691	0	2044	0	7

Point Won	7
Point Lost	13

REVOLUTION # 15

Lane No	Bowler's Name	SEX	H'cap	G1	G2	G3	Total	H'cap G1	Point	H'cap G2	Point	H'cap G3	Point	Total	Point	Total Point
22	AZMI	M	16	173	150	170	493	189	1	166	0	186	1	541	1	3
	HAO WEI	M	15	158	133	171	462	173	1	148	0	186	1	507	1	3
	MJ	M	11	151	159	145	455	162	0	170	1	156	0	488	0	1
	HAFIZ	M	7	178	190	159	527	185	0	197	1	166	0	548	1	2
Scratch Total				660	632	645	1937									
Handicap				49	49	49	147									
Total				709	681	694	2084	709	1	681	1	694	1	2084	1	13

Point Won	13
Point Lost	7

**15th FOURSOME LEAGUE
WESTWOOD BOWL
Week 6**

<u>TEAM HIGH SERIES - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>TEAM HIGH SERIES + HCP</u>				Scratch	<u>Week</u>
1	2569	15 FIVE	2569	6	1	2500	REVIVAL TEAM	2338	6		
2	2455	4U2 BOWL	2518	6	2	2465	C.C.R.T	2357	6		
3	2378	CONQUERORS	2429	3	3	2433	COOL STRIKE	2307	3		
<u>TEAM HIGH GAME - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>TEAM HIGH GAME + HCP</u>				Scratch	<u>Week</u>
1	947	15 FIVE	947	6	1	862	STORM RIDERS	793	5		
2	885	4U2 BOWL	885	4	2	860	COOL STRIKE	818	3		
3	851	ROLLING 99	851	1	3	859	REVIVAL TEAM	805	6		
<u>MEN HIGH SERIES - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>MEN HIGH SERIES + HCP</u>				Scratch	<u>Week</u>
1	727	BASIL - TEAM A3	727	3	1	698	JUMARI - ROMALEOS	680	3		
2	702	CHAI - ROLLING 99	702	1	2	688	ALEX WONG - BLACK KNIGHT	655	5		
3	697	IRFAN - ASSASSINS	742	4	3	688	MAMES - REVIVAL TEAM	634	6		
<u>MEN HIGH GAME - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>MEN HIGH GAME + HCP</u>				Scratch	<u>Week</u>
1	300	BASIL - TEAM A3	300	3	1	294	IRFAN - ASSASSINS	279	4		
2	280	RAYMOND SOH - 15 FIVE	280	2	2	280	ALEX WONG - BLACK KNIGHT	269	5		
3	279	CHAI - ROLLING 99	279	1	3	279	JULIUS - 15 FIVE	279	6		
<u>LADIES HIGH SERIES - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>LADIES HIGH SERIES + HCP</u>				Scratch	<u>Week</u>
1	620	SUSAN NG - ROLLIN 99	665	5	1	650	JENNIFER - MISFITS STRIKERS	572	2		
2	614	IFQAH - 4U2 BOWL	665	6	2	625	ANNE - MISFITS STRIKERS	580	4		
3	599	JAYANTHI - KNIGHTS	644	2	3	620	OMG - STORM RIDERS	521	5		
<u>LADIES HIGH GAME - SCRATCH</u>				w / h'cp	<u>Week</u>	<u>LADIES HIGH GAME + HCP</u>				Scratch	<u>Week</u>
1	243	JAYANTHI - KNIGHTS	258	2	1	239	LEEN - ASSASSINS	224	2		
2	242	SUSAN NG - ROLLIN 99	257	5	2	236	IFQAH - 4U2 BOWL	219	6		
3	233	JOCELYN GOH - PRESTIGE	248	1	3	229	JENNIFER - MISFITS STRIKERS	203	2		

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	TEAM A3 #1	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
1.1	WILFRYD	M	6		1126		0	1126	6	188
1.2	RAINEY	M	15		1515		19	1534	9	170
1.3	MAX	M	13	508	1028		13	1041	6	174
1.4	GABRIEL	M	14		1029		9	1038	6	173
1.5	FIKRI	M	23		354		110	464	3	155
1.6	DANIAL	M	16		486		16	502	3	167
1.7	SAIYID	M	14		991		36	1027	6	171
1.8	RAIMI	M	21	498	924		30	954	6	159
1.9	FARISH	M	13		520		0	520	3	173
1.10	ALEX	M	18	473	938	20	48	986	6	164
1.11	FAIQ	M	12		1057		0	1057	6	176
1.12	BASIL	M	0		727		0	727	3	242
1.13	DOMINIC	M	22		451		17	468	3	156
1.14	KELSON	M	17	495	946	27	49	995	6	166
1.15		M	#DIV/0!		0		0	0	0	#DIV/0!
1.16		F	#DIV/0!		0		0	0	0	#DIV/0!
1.17		F	#DIV/0!		0		0	0	0	#DIV/0!
1.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	COOL STRIKE #2	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
2.1	AJ	M	6	604	2819		0	2819	15	188
2.2	WAN	M	8		1662		0	1662	9	185
2.3	JEFFERY	M	9	518	2194		0	2194	12	183
2.4	RAZAK	M	18	463	1443	5	37	1480	9	164
2.5	ZIL	M	13		1023		19	1042	6	174
2.6	HARON	M	15	432	1988	29	45	2033	12	169
2.7	FAITH	M	9		1094		0	1094	6	182
2.8	ESA	M	25		405		45	450	3	150
2.9		M	#DIV/0!		0		0	0	0	#DIV/0!
2.10		M	#DIV/0!		0		0	0	0	#DIV/0!
2.11		M	#DIV/0!		0		0	0	0	#DIV/0!
2.12		M	#DIV/0!		0		0	0	0	#DIV/0!
2.13		M	#DIV/0!		0		0	0	0	#DIV/0!
2.14		M	#DIV/0!		0		0	0	0	#DIV/0!
2.15		M	#DIV/0!		0		0	0	0	#DIV/0!
2.16		F	#DIV/0!		0		0	0	0	#DIV/0!
2.17		F	#DIV/0!		0		0	0	0	#DIV/0!
2.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	ROMALEOS #3	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
3.1	FADZREEN	M	4		1156		0	1156	6	193
3.2	SUFFIAN	M	25		432		21	453	3	151
3.3	JUMARI	M	0		1829		0	1829	9	203
3.4	NORHAIZUL	M	10	491	2691	11	11	2702	15	180
3.5	MD HAZLIN	M	5	521	1133	4	4	1137	6	190
3.6	SHAM (CHIKO)	M	21		462		14	476	3	159
3.7	RIDDUAN	M	7	518	1645	14	34	1679	9	187
3.8	OBEK	M	18		967		23	990	6	165
3.9	AMAT	M	19		943		29	972	6	162
3.10	NUR ES	M	3	617	1159		0	1159	6	193
3.11	HALIM	M	0		621		0	621	3	207
3.12		M	#DIV/0!		0		0	0	0	#DIV/0!
3.13		M	#DIV/0!		0		0	0	0	#DIV/0!
3.14		M	#DIV/0!		0		0	0	0	#DIV/0!
3.15		M	#DIV/0!		0		0	0	0	#DIV/0!
3.16		F	#DIV/0!		0		0	0	0	#DIV/0!
3.17		F	#DIV/0!		0		0	0	0	#DIV/0!
3.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	NOBODY RULES NOBODY #4	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
4.1	LATIFF	M	11		535		0	535	3	178
4.2	RAVIN	M	0		1841		0	1841	9	205
4.3	DANIEL KU	M	20		457		26	483	3	161
4.4	DWAYNE KOO	M	0		636		0	636	3	212
4.5	ALFRED G	M	22		868		71	939	6	157
4.6	PRAKASH	M	11		532		0	532	3	177
4.7	DARREN LIM	M	18		448		47	495	3	165
4.8	LIM TZEN SHYEN	M	20	450	921	35	39	960	6	160
4.9	KUAN RUI ZHI	M	-10		600		0	600	3	200
4.10	NG WEE YAP	M	10	538	538		0	538	3	179
4.11		M	#DIV/0!		0		0	0	0	#DIV/0!
4.12		M	#DIV/0!		0		0	0	0	#DIV/0!
4.13		M	#DIV/0!		0		0	0	0	#DIV/0!
4.14	WONG TZER MIIN	F	10		553		0	553	3	184
4.15	ANNA LAW	F	29		929		7	936	6	156
4.16	NAISAH NESS	F	23	511	990		0	990	6	165
4.17	SHARON ANG	F	22	491	1502		7	1509	9	168
4.18	HAMIDAH	F	25		956		16	972	6	162

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	15 FIVE #5	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
5.1	JACKSON YEO	M	12		526		0	526	3	175
5.2	YONG KAI	M	7		1120		0	1120	6	187
5.3	HANIS	M	-10		577		0	577	3	192
5.4	IAN NG	M	0		1195		0	1195	6	199
5.5	JULIUS CHEONG	M	0	686	1931		0	1931	9	215
5.6	RAYMOND SOH	M	0	616	1907		0	1907	9	212
5.7	ZUHAILI	M	0	672	1318		0	1318	6	220
5.8	SOON MENG	M	0		608		0	608	3	203
5.9	BRANDON	M	0	595	1229		0	1229	6	205
5.10	BASIL	M	3		584		0	584	3	195
5.11	DANI AQIL	M	0		1202		0	1202	6	200
5.12	SHERMAN GOH	M	12		525		4	529	3	176
5.13	SUHAIZAN	M	0		599		0	599	3	200
5.14		M	#DIV/0!		0		0	0	0	#DIV/0!
5.15		M	#DIV/0!		0		0	0	0	#DIV/0!
5.16		F	#DIV/0!		0		0	0	0	#DIV/0!
5.17		F	#DIV/0!		0		0	0	0	#DIV/0!
5.18	JESSICA ONG	F	22		1006		0	1006	6	168

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	REVIVAL TEAM #6	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
6.1	ELFE	M	8		1099		5	1104	6	184
6.2	AZMIL	M	10		2696		1	2697	15	180
6.3	MAMES	M	10	634	1580		35	1615	9	179
6.4	SANI	M	7	628	3350		3	3353	18	186
6.5	RIDUWAN	M	13	487	1548	2	24	1572	9	175
6.6	ZARRY	M	5		1703		0	1703	9	189
6.7	RIHIN	M	9	589	1089		0	1089	6	182
6.8		M	#DIV/0!		0		0	0	0	#DIV/0!
6.9		M	#DIV/0!		0		0	0	0	#DIV/0!
6.10		M	#DIV/0!		0		0	0	0	#DIV/0!
6.11		M	#DIV/0!		0		0	0	0	#DIV/0!
6.12		M	#DIV/0!		0		0	0	0	#DIV/0!
6.13		M	#DIV/0!		0		0	0	0	#DIV/0!
6.14		M	#DIV/0!		0		0	0	0	#DIV/0!
6.15		M	#DIV/0!		0		0	0	0	#DIV/0!
6.16		F	#DIV/0!		0		0	0	0	#DIV/0!
6.17		F	#DIV/0!		0		0	0	0	#DIV/0!
6.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	ASSASSINS #7	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
7.1	ZUL	M	17		978		20	998	6	166
7.2	HADI	M	11		1049		16	1065	6	178
7.3	HANAPEPE	M	9	511	1063		35	1098	6	183
7.4	JIBBS	M	22		466		1	467	3	156
7.5	AMAT	M	17		997		5	1002	6	167
7.6	BAKAR	M	19		943		35	978	6	163
7.7	AIDIE	M	23		448		13	461	3	154
7.8	IRFAN	M	2		1757		11	1768	9	196
7.9	IAN	M	16	464	983	20	20	1003	6	167
7.10	AMY	M	8	572	1092		13	1105	6	184
7.11	FARHAAN	M	11		511		22	533	3	178
7.12	SAHRUDIN	M	19	504	865	19	109	974	6	162
7.13		M	#DIV/0!		0		0	0	0	#DIV/0!
7.14		M	#DIV/0!		0		0	0	0	#DIV/0!
7.15		M	#DIV/0!		0		0	0	0	#DIV/0!
7.16	LEEN	F	16		1046		11	1057	6	176
7.17		F	#DIV/0!		0		0	0	0	#DIV/0!
7.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	E'CLIPSE #8	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
8.1	RASHIDI	M	25		369		83	452	3	151
8.2	YATIM	M	11		1604		0	1604	9	178
8.3	MCKEAN	M	14	480	2053		19	2072	12	173
8.4	IZZAN	M	18	410	1408	40	65	1473	9	164
8.5	MAT NOOR	M	11	513	1587		7	1594	9	177
8.6	ASHYRAEI	M	1		1785		0	1785	9	198
8.7	GHANI	M	24		423		35	458	3	153
8.8	HAMZAH	M	16		503		0	503	3	168
8.9		M	#DIV/0!		0		0	0	0	#DIV/0!
8.10		M	#DIV/0!		0		0	0	0	#DIV/0!
8.11		M	#DIV/0!		0		0	0	0	#DIV/0!
8.12		M	#DIV/0!		0		0	0	0	#DIV/0!
8.13		M	#DIV/0!		0		0	0	0	#DIV/0!
8.14		M	#DIV/0!		0		0	0	0	#DIV/0!
8.15		M	#DIV/0!		0		0	0	0	#DIV/0!
8.16	AZIZAH	F	35		442		0	442	3	147
8.17	NINA	F	25	467	972		0	972	6	162
8.18	NATASHA	F	30		930		4	934	6	156

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	PRESTIGE #9	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
9.1	ALEX LIEW	M	13	514	1025	15	15	1040	6	173
9.2	ERIC TAN	M	4		1134		14	1148	6	191
9.3	BAN LEE	M	6	580	1685		0	1685	9	187
9.4	JASON NG	M	4		1138		17	1155	6	193
9.5	NICK LIM	M	6		1134		0	1134	6	189
9.6	ADAM	M	8		1094		12	1106	6	184
9.7	RAYMOND TOH	M	11		1070		0	1070	6	178
9.8	MERVIN TAY	M	9	574	1087		5	1092	6	182
9.9	DESMOND LEE	M	25		405		48	453	3	151
9.10	RASHIDI	M	22		450		18	468	3	156
9.11		M	#DIV/0!		0		0	0	0	#DIV/0!
9.12		M	#DIV/0!		0		0	0	0	#DIV/0!
9.13		M	#DIV/0!		0		0	0	0	#DIV/0!
9.14		M	#DIV/0!		0		0	0	0	#DIV/0!
9.15		M	#DIV/0!		0		0	0	0	#DIV/0!
9.16		F	#DIV/0!		0		0	0	0	#DIV/0!
9.17	MEI POH	F	25		487		0	487	3	162
9.18	JOCELYN GOH	F	17	457	2079	10	12	2091	12	174

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	4U2 BOWL #10	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
10.1	YUSOFF BAI	M	15		988		27	1015	6	169
10.2	OSMAN	M	7		1107		13	1120	6	187
10.3	HARIF A	M	0		1243		0	1243	6	207
10.4	RAHIM LION	M	0		616		0	616	3	205
10.5	HAIRON	M	0	617	1917		0	1917	9	213
10.6	HAIRUL	M	14		515		1	516	3	172
10.7	BRYANT	M	0	620	1232		0	1232	6	205
10.8	HISAM	M	10		542		0	542	3	181
10.9	ERWAN	M	7		556		0	556	3	185
10.10	HEISYAM	M	2	604	1759		0	1759	9	195
10.11	ANIQ	M	0		618		0	618	3	206
10.12	MOHD IMRAN	M	4		577		0	577	3	192
10.13	HAFIZH	M	1		592		0	592	3	197
10.14		M	#DIV/0!		0		0	0	0	#DIV/0!
10.15		M	#DIV/0!		0		0	0	0	#DIV/0!
10.16		F	#DIV/0!		0		0	0	0	#DIV/0!
10.17		F	#DIV/0!		0		0	0	0	#DIV/0!
10.18	IFQAH	F	10	614	1664		0	1664	9	185

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	STORM RIDERS #11	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
11.1	JAS	M	18		961		29	990	6	165
11.2	JACKY	M	10	586	2705		0	2705	15	180
11.3	KIKI	M	7	497	3347		0	3347	18	186
11.4	HAS	M	19		939		34	973	6	162
11.5	RALPH	M	14		517		0	517	3	172
11.6	AHA	M	16		507		0	507	3	169
11.7	KC	M	13		1031		16	1047	6	175
11.8	KEVIN	M	11	541	1060		7	1067	6	178
11.9		M	#DIV/0!		0		0	0	0	#DIV/0!
11.10		M	#DIV/0!		0		0	0	0	#DIV/0!
11.11		M	#DIV/0!		0		0	0	0	#DIV/0!
11.12		M	#DIV/0!		0		0	0	0	#DIV/0!
11.13		M	#DIV/0!		0		0	0	0	#DIV/0!
11.14		M	#DIV/0!		0		0	0	0	#DIV/0!
11.15		M	#DIV/0!		0		0	0	0	#DIV/0!
11.16		F	#DIV/0!		0		0	0	0	#DIV/0!
11.17	AMANDA	F	35	410	410		0	410	3	137
11.18	OMG	F	25		973		0	973	6	162

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	KNIGHTS #12	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
12.1	RAVIKUMAR	M	15		1015		2	1017	6	170
12.2	VIJAYACHELVAN	M	16		992		17	1009	6	168
12.3	A THENESKUMAR	M	10		541		0	541	3	180
12.4	HANESH	M	25		365		85	450	3	150
12.5	SELVAKUMARAN	M	9		1064		28	1092	6	182
12.6	SATHIAMOORTHY	M	0	567	1204		0	1204	6	201
12.7	ANDY	M	17		499		0	499	3	166
12.8	KANA	M	22		460		9	469	3	156
12.9	MANSOOR	M	21		447		25	472	3	157
12.10	TULASI	M	8	549	1107		0	1107	6	185
12.11	ABDULLAH	M	0		601		0	601	3	200
12.12	DORAY	M	14	512	512	5	5	517	3	172
12.13		M	#DIV/0!		0		0	0	0	#DIV/0!
12.14		M	#DIV/0!		0		0	0	0	#DIV/0!
12.15		M	#DIV/0!		0		0	0	0	#DIV/0!
12.16		F	#DIV/0!		0		0	0	0	#DIV/0!
12.17	JAYANTHI	F	0		599		0	599	3	200
12.18	LALITHAL	F	33	464	897	7	7	904	6	151

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	BLACK KNIGHT #13	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
13.1	SAM	M	5	548	1689		18	1707	9	190
13.2	HARRY KHOO	M	11	564	2674		0	2674	15	178
13.3	STANLEY TAN	M	9	506	2716	2	2	2718	15	181
13.4	ALEX WONG	M	6		2258		0	2258	12	188
13.5	RAYMOND GOH	M	0	650	2993		0	2993	15	200
13.6	BERNARD SEE	M	8		551		0	551	3	184
13.7		M	#DIV/0!		0		0	0	0	#DIV/0!
13.8		M	#DIV/0!		0		0	0	0	#DIV/0!
13.9		M	#DIV/0!		0		0	0	0	#DIV/0!
13.10		M	#DIV/0!		0		0	0	0	#DIV/0!
13.11		M	#DIV/0!		0		0	0	0	#DIV/0!
13.12		M	#DIV/0!		0		0	0	0	#DIV/0!
13.13		M	#DIV/0!		0		0	0	0	#DIV/0!
13.14		M	#DIV/0!		0		0	0	0	#DIV/0!
13.15		M	#DIV/0!		0		0	0	0	#DIV/0!
13.16	LYA	F	35		414		16	430	3	143
13.17		F	#DIV/0!		0		0	0	0	#DIV/0!
13.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	TEAM F&S #14	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
14.1	ZACK	M	22		894		41	935	6	156
14.2	TAHIR	M	7	567	1672		2	1674	9	186
14.3	CHANDRAN	M	3	519	1750	2	2	1752	9	195
14.4	OSMAN TIK	M	5	592	2272		11	2283	12	190
14.5	MOHD YUSOFF (MYUS)	M	2		1766		0	1766	9	196
14.6	WAI QUAN	M	4		1156		0	1156	6	193
14.7	MD NIZAM	M	12		1062		0	1062	6	177
14.8		M	#DIV/0!		0		0	0	0	#DIV/0!
14.9		M	#DIV/0!		0		0	0	0	#DIV/0!
14.10		M	#DIV/0!		0		0	0	0	#DIV/0!
14.11		M	#DIV/0!		0		0	0	0	#DIV/0!
14.12		M	#DIV/0!		0		0	0	0	#DIV/0!
14.13		M	#DIV/0!		0		0	0	0	#DIV/0!
14.14		M	#DIV/0!		0		0	0	0	#DIV/0!
14.15		M	#DIV/0!		0		0	0	0	#DIV/0!
14.16	AURORA	F	23	501	993		0	993	6	166
14.17	NURUL	F	35		857		9	866	6	144
14.18	SARAH	F	15		534		0	534	3	178

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	REVOLUTION #15	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
15.1	AZMI	M	16	493	1965		40	2005	12	167
15.2	RAY SOH	M	8		1658		0	1658	9	184
15.3	HAOWEI	M	18	462	951	17	36	987	6	165
15.4	HAFIZ	M	8	527	2743		6	2749	15	183
15.5	CHIA MENG CHAI (MJ)	M	15	455	1524	5	5	1529	9	170
15.6	SOH WEE SENG	M	18		941		42	983	6	164
15.7	SEBASTIAN OH	M	16		988		21	1009	6	168
15.8	SEBESTIAN TAN	M	14		1035		3	1038	6	173
15.9	ELSEN	M	24		387		70	457	3	152
15.10		M	#DIV/0!		0		0	0	0	#DIV/0!
15.11		M	#DIV/0!		0		0	0	0	#DIV/0!
15.12		M	#DIV/0!		0		0	0	0	#DIV/0!
15.13		M	#DIV/0!		0		0	0	0	#DIV/0!
15.14		M	#DIV/0!		0		0	0	0	#DIV/0!
15.15		M	#DIV/0!		0		0	0	0	#DIV/0!
15.16		F	#DIV/0!		0		0	0	0	#DIV/0!
15.17		F	#DIV/0!		0		0	0	0	#DIV/0!
15.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	MISFITS STRIKERS #16	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
16.1	ROHEZAN	M	2		2916		17	2933	15	196
16.2	LAWRENCE	M	0		619		0	619	3	206
16.3	XANDREI	M	8		1093		10	1103	6	184
16.4	SARIFF	M	4		1153		0	1153	6	192
16.5	JAMARI	M	9		545		0	545	3	182
16.6	DEDI HARYADI	M	14		1027		4	1031	6	172
16.7	SURADI	M	19		469		19	488	3	163
16.8		M	#DIV/0!		0		0	0	0	#DIV/0!
16.9		M	#DIV/0!		0		0	0	0	#DIV/0!
16.10		M	#DIV/0!		0		0	0	0	#DIV/0!
16.11		M	#DIV/0!		0		0	0	0	#DIV/0!
16.12		M	#DIV/0!		0		0	0	0	#DIV/0!
16.13		M	#DIV/0!		0		0	0	0	#DIV/0!
16.14		M	#DIV/0!		0		0	0	0	#DIV/0!
16.15		M	#DIV/0!		0		0	0	0	#DIV/0!
16.16	ANNE	F	4		580		0	580	3	193
16.17	MASTURA	F	33		438		15	453	3	151
16.18	JENNIFER	F	20		2038		0	2038	12	170

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	ALL FOR ONE #17	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
17.1	SANI	M	12	549	1593		0	1593	9	177
17.2	IBRAHIM	M	13	507	1543	22	22	1565	9	174
17.3	MUHAMMAD	M	5	632	1123		19	1142	6	190
17.4	FAIZAL	M	22		470		0	470	3	157
17.5	ATMARI	M	17		493		6	499	3	166
17.6	NABIL	M	14	516	996		38	1034	6	172
17.7	WILL	M	20		433		46	479	3	160
17.8	AHMAD	M	25		402		49	451	3	150
17.9	AZMI	M	24		420		34	454	3	151
17.10	KELVIN	M	16		507		0	507	3	169
17.11	EDDIE	M	21		460		16	476	3	159
17.12		M	#DIV/0!		0		0	0	0	#DIV/0!
17.13		M	#DIV/0!		0		0	0	0	#DIV/0!
17.14		M	#DIV/0!		0		0	0	0	#DIV/0!
17.15		M	#DIV/0!		0		0	0	0	#DIV/0!
17.16	CHERIE	F	35		425		14	439	3	146
17.17	MURNI	F	14		538		0	538	3	179
17.18	NFO	F	35		411		25	436	3	145

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	CONQUERORS #18	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
18.1	PETER	M	14		1017		16	1033	6	172
18.2	DANIEL	M	13	434	1489	38	75	1564	9	174
18.3	RYAN	M	11		2111		25	2136	12	178
18.4	ALVIN SEOW	M	0	650	3588		1	3589	18	199
18.5	IVAN	M	13	497	1041		0	1041	6	174
18.6	ZULKIFLI	M	0	621	1259		0	1259	6	210
18.7	KEN	M	4		577		0	577	3	192
18.8	ALVIN HO	M	15		499		12	511	3	170
18.9	LESTER	M	12		506		23	529	3	176
18.10	SAFWAN	M	-10		631		0	631	3	210
18.11		M	#DIV/0!		0		0	0	0	#DIV/0!
18.12		M	#DIV/0!		0		0	0	0	#DIV/0!
18.13		M	#DIV/0!		0		0	0	0	#DIV/0!
18.14		M	#DIV/0!		0		0	0	0	#DIV/0!
18.15		M	#DIV/0!		0		0	0	0	#DIV/0!
18.16	LORRAINE	F	15		533		0	533	3	178
18.17		F	#DIV/0!		0		0	0	0	#DIV/0!
18.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	ROLLING 99 #19	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
19.1	KK LEE	M	20		937		19	956	6	159
19.2	JASON HON	M	14		1017		10	1027	6	171
19.3	CHAI	M	0		1285		0	1285	6	214
19.4	RICK TAN	M	3	571	1732	8	8	1740	9	193
19.5	ALVIN LOH	M	23		438		24	462	3	154
19.6	SAM	M	14	525	1029		8	1037	6	173
19.7	MARCUS CHEW	M	18		462		33	495	3	165
19.8	ANUAR	M	1	585	1193		0	1193	6	199
19.9	GABRIEL GOH	M	7		559		0	559	3	186
19.10	EFFENDY	M	20		467		12	479	3	160
19.11	FAIZAL	M	12		528		0	528	3	176
19.12	DARREN	M	19	477	477	8	8	485	3	162
19.13		M	#DIV/0!		0		0	0	0	#DIV/0!
19.14		M	#DIV/0!		0		0	0	0	#DIV/0!
19.15		M	#DIV/0!		0		0	0	0	#DIV/0!
19.16		F	#DIV/0!		0		0	0	0	#DIV/0!
19.17		F	#DIV/0!		0		0	0	0	#DIV/0!
19.18	SUSAN NG	F	0		620		0	620	3	207

**15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP**

Bowler I/D	C.C.R.T #20	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
20.1	ANAQY	M	20	459	928	31	32	960	6	160
20.2	MUHAMMAD	M	16		1503		16	1519	9	169
20.3	HASHIM	M	5	608	2840		15	2855	15	190
20.4	SHAFIE	M	0	659	3780		0	3780	18	210
20.5	ISA	M	6	631	2828		6	2834	15	189
20.6	RID	M	22		418		51	469	3	156
20.7	SYAHRIL	M	11		1065		0	1065	6	178
20.8		M	#DIV/0!		0		0	0	0	#DIV/0!
20.9		M	#DIV/0!		0		0	0	0	#DIV/0!
20.10		M	#DIV/0!		0		0	0	0	#DIV/0!
20.11		M	#DIV/0!		0		0	0	0	#DIV/0!
20.12		M	#DIV/0!		0		0	0	0	#DIV/0!
20.13		M	#DIV/0!		0		0	0	0	#DIV/0!
20.14		M	#DIV/0!		0		0	0	0	#DIV/0!
20.15		M	#DIV/0!		0		0	0	0	#DIV/0!
20.16		F	#DIV/0!		0		0	0	0	#DIV/0!
20.17		F	#DIV/0!		0		0	0	0	#DIV/0!
20.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	CLASSIC BOWLER #21	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
21.1	AARON	M	21		868		77	945	6	158
21.2	DESMOND	M	19	480	973	1	1	974	6	162
21.3	KENNY	M	10		539		0	539	3	180
21.4	GOH YU XUAN	M	4	558	1721		0	1721	9	191
21.5	AFFTAAL	M	0		1995		0	1995	9	222
21.6	KIAN LEONG	M	23		858		66	924	6	154
21.7	NICHOLAS	M	0	583	1208		0	1208	6	201
21.8	HUZAINI	M	17		455		42	497	3	166
21.9	REMY	M	15		509		0	509	3	170
21.10	SIGMA	M	5		568		0	568	3	189
21.11	MAX	M	12	530	530		0	530	3	177
21.12		M	#DIV/0!		0		0	0	0	#DIV/0!
21.13		M	#DIV/0!		0		0	0	0	#DIV/0!
21.14		M	#DIV/0!		0		0	0	0	#DIV/0!
21.15		M	#DIV/0!		0		0	0	0	#DIV/0!
21.16	IZZAH	F	18		520		0	520	3	173
21.17		F	#DIV/0!		0		0	0	0	#DIV/0!
21.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	B.I.B #22	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
22.1	RAFA	M	17		1377		118	1495	9	166
22.2	ANDI	M	16	501	1008		0	1008	6	168
22.3	CRIS	M	6		1127		0	1127	6	188
22.4	NORISHAM S7	M	16		994		12	1006	6	168
22.5	ROSZ	M	20		478		0	478	3	159
22.5	MUN	M	12	492	1573	3	3	1576	9	175
22.7	SHI HONG	M	21		896		56	952	6	159
22.8	NIZAM	M	4		1153		0	1153	6	192
22.9	SUFI TRESNO	M	7	519	1117		0	1117	6	186
22.10	SUTRESNOH	M	11	507	1594	4	13	1607	9	179
22.11	RAMLI HIPPO	M	14		515		0	515	3	172
22.12		M	#DIV/0!		0		0	0	0	#DIV/0!
22.13		M	#DIV/0!		0		0	0	0	#DIV/0!
22.14		M	#DIV/0!		0		0	0	0	#DIV/0!
22.15		M	#DIV/0!		0		0	0	0	#DIV/0!
22.16	DIYAA	F	29		469		0	469	3	156
22.17		F	#DIV/0!		0		0	0	0	#DIV/0!
22.18		F	#DIV/0!		0		0	0	0	#DIV/0!

15th FOURSOME LEAGUE
WESTWOOD BOWL
BOWLER'S HANDICAP

Bowler I/D	X-FREEDOM #23	Sex	NEW HCP	WEEK 6	Overall Scratch Total	WEEK 6	Overall Total Adjust	Overall Total Score	Gms	Avg
						ADJUST				
23.1	ARISTO	M	14		987		47	1034	6	172
23.2	AIEM	M	22		914		26	940	6	157
23.3	FIAN	M	15		974		52	1026	6	171
23.4	SYAZWAN	M	18		966		24	990	6	165
23.5	KHAI	M	18	448	954	28	28	982	6	164
23.6	DHAN	M	12		1058		0	1058	6	176
23.7	AAN	M	9	535	1081	10	10	1091	6	182
23.8	FAIZ	M	21	432	1349	48	73	1422	9	158
23.9	FAHIM	M	17		500		0	500	3	167
23.10	AMINZKD	M	14	443	968	37	66	1034	6	172
23.11		M	#DIV/0!		0		0	0	0	#DIV/0!
23.12		M	#DIV/0!		0		0	0	0	#DIV/0!
23.13		M	#DIV/0!		0		0	0	0	#DIV/0!
23.14		M	#DIV/0!		0		0	0	0	#DIV/0!
23.15		M	#DIV/0!		0		0	0	0	#DIV/0!
23.16		F	#DIV/0!		0		0	0	0	#DIV/0!
23.17		F	#DIV/0!		0		0	0	0	#DIV/0!
23.18		F	#DIV/0!		0		0	0	0	#DIV/0!

WALKOVER DEPOSIT & REGISTRATION FEE PAYMENT RECORD

Team	TEAM NAME	WALKOVER DEPOSIT	PAYMENT DATE	TROPHY FUND	PAYMENT DATE
1	TEAM A ³	\$140.00	24/Dec/25	\$250.00	24/Dec/25
2	COOL STRIKE	\$140.00	6/Jan/26	\$250.00	6/Jan/26
3	ROMALEOS	\$140.00	23/Dec/25	\$250.00	23/Dec/25
4	NOBODY RULES NOBODY	\$140.00	6/Jan/26	\$250.00	6/Jan/26
5	15 FIVE	\$140.00	19/Dec/25	\$250.00	19/Dec/25
6	REVIVAL TEAM	\$140.00	18/Dec/25	\$250.00	18/Dec/25
7	ASSASSINS	\$140.00	2/Jan/26	\$250.00	2/Jan/26
8	E'CLIPSE	\$140.00	18/Dec/25	\$250.00	18/Dec/25
9	PRESTIGE	\$140.00	6/Jan/26	\$250.00	6/Jan/26
10	4U2 BOWL	\$140.00	18/Dec/25	\$250.00	18/Dec/25
11	STORM RIDERS	\$140.00	23/Dec/25	\$250.00	23/Dec/25
12	KNIGHTS	\$140.00	22/Dec/25	\$250.00	22/Dec/25
13	BLACK KNIGHT	\$140.00	29/Dec/25	\$250.00	29/Dec/25
14	TEAM F&S	\$140.00	19/Dec/25	\$250.00	19/Dec/25
15	REVOLUTION	\$140.00	19/Dec/25	\$250.00	19/Dec/25
16	MISFITS STRIKERS	\$140.00	23/Dec/25	\$250.00	23/Dec/25
17	ALL FOR ONE	\$140.00	6/Jan/26	\$250.00	6/Jan/26
18	CONQUERORS	\$140.00	6/Jan/26	\$250.00	6/Jan/26
19	ROLLIN 99	\$140.00	18/Dec/25	\$250.00	18/Dec/25
20	C.C.R.T	\$140.00	20/Jan/26	\$250.00	20/Jan/26
21	CLASSIC BOWLERS	\$140.00	18/Dec/25	\$250.00	18/Dec/25
22	B.I.B	\$140.00	6/Jan/26	\$250.00	6/Jan/26
23	X-FREEDOM	\$140.00	13/Jan/26	\$250.00	13/Jan/26